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B. Com. (Part-II)
Term End Examination, 5q2¢.21

Group-C
Paper : First
BUSINESS STATISTICS

Time Allowed : Three hours

Maximum Marks : 75
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Note : Attempt all five questions. One question
Srom each unit is compulsory. All questions
carry equal marks.
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Distinguish between classification and

tabulation. Discuss the purposes, methods and
importance of classification.
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10 5
20 20
30 70
40 90
50 98
60 100

Calculate mean, median and mode woi the
following data :
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10 5
20 20
30 70
40 90
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30 98

60 100
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0-10 4
10-20 15
20-30 28
30-40 16
40-50 7

Calculate quartile deviation and its coefficient
from the following data :
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0 150
10 140
20 100
30 80
40 80
50 70
60 30
70 14
80 0

Calculate Karl Pearson’s coefficient of skewness

Class mqo@:nso% from the following data :

- * Marks No. of

16-20 15

20-30 28 (above) Students

30-40 16 0 150

40-50 7 10 140
3reraT 20 100
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30 80 D 50 40,000 720

40 80 E 230 50,000 650
30 70 YT
60 30 Or
70 14 eHsY T8 YAwES F 9 i) gareme
80 0 A = fafy=s O = s =it
T Distinguish between correlation m,sa regression.
s Also discuss the various methods of measuring
Unit-TII regression.
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B 150 75,000 1125 ERECE T R N HifsTT
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E 250 50,000 650
T (3) 6 2 4 10 8
Find correlation between density of population 30 40
and death rate from the following data : men (fem) 50 100 60
District Areg (Sq. KM) Population No. of death .ﬂ_ﬁ, -1 i
A 120 24,000 288
u 7 0 2 6 12 12
B 150 75,000 1125 T (%)
C 80 48,000 7683 e (fRu)  s6 120 60 24 36
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Construct index number from the following data
by using Fisher’s formula and prove time reversal
test

Commodities A B C D E
Base Year :
Price (¥) 6 2 4 10 8

Quantity (kg) 50 100 60 30 40
Current year :

Price (%) 10 2 6 12 12
Quannty (kg) 56 120 60 24 36
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How are consumer’s price index number are

constructed? Describe the various steps with
illustrations.

THE-V

Unit-V

5, SR YEiTAm w4 o1 ¥ 2 T Hee

foagral = 4w fad= wifsa

-1243 PTO

[ 8]
What is mean by business forecasting? Discuss
briefly about its important theories.
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A bag contains 4 black and 1 white ball. Another

bag contains 5 black and 4 white balls. One
bail has been taken out from one of the bags
and found black. What is the probability that it
came from the first bag.
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